&=t farwg o amurRRa (1915)
qgfadeda wsit & I g

Q.1 Yol oz, 3-

(A) 7%a (B) fazeft (C) 3o (D) WA

Q.2 fmfefam ez # 7 qfewi ez =1 97 Fifso-

(A) FEt-7 (B) f&am@ (C) 37 m (D) w12

Q.3 fanfefam # 3 gfg wav wier @i =t 82

(A) gzdter () faamdt (C) wé wétay (D) wéhuy

Q.4 elFFet H T -

(A) Fq®Y (B) FHuRA (C) Fgiltfe (D) sradna

Q.5 forar & oz 22

(A) sfawrt (8) famwrt (C) fasiaor (D) 3 & #ig 7@

Q.6 FAF -

(A) ¥HTE (B) T (C) 39T (D) HAT

Q.7 famfafaa ¥ fera 1 vaigar o 2-

(A) ferarerg (B) %z (C) =amat (D) &R

Q.8 faam fawg &7 v 319 & et W eraw 2-

(A) 3=t 1 fan fma (B) 3wt st @t

(C)zERATzgumr (D) =t 2 vawg & T

Q.9 %4 7 YgAIag-

(A) 3t (8) F9 (C) faam (D) =i

Q.10 faw am # & s i adet 3723 2-

(A) Fterear (B) Afeft eror 3w

(C) #=atd (D) Vg HiRGeaTaa

faafafaa sedg #t vea 39 W smurfa wsl & s fafag-
UTHT W1 Gd Wegpid # agd | a1d aid gq it ag

Hed: AUHER WU, HFT I 8,399 3ud g B ugfi wue

2, Tafere 7l wuTE SR oRR- Jw@- T agr 9% fAafia

IO WTUE e H 3R FafE e depfa e quieat

& g1 gQ *ft 7 vl wuE, Fded wuTE, 2 il aun ugf

- Wepia ¢ [y e an fay s vd w@egla @ i

T TR & 919 7 U9 R T AR A as a

o 3% waa % ag e, 9 wior s49ifa @ faifea @ e, e

1A, WET | Ted: RA HWeptd # sifewa siaa fFmior &,

7l & ferg sfia &t weaaTd sifass 2 3 it it 1 sgn 4t

s TR Tpla & g Sfaa w13 § fiv 98 faw sepfa ar

fae reraan o smRferET 99 FEd 8

Q.1 ureTe Wpfd & waw H w2

(A) T *itfawar dwpfa 21

(B) 7z aifeas T wgrar Hegphd £

(C) 7@ iRt Hepfa & 3afa 1

(D) T FuTar Hepha &1

Q.12 Z9H | P T HYF TA -

(A) raiTes wegpfa qoia: fgfe- e &

(B) T vd WRArE Hegpfa # o 2 fmee 1

(C) wrener wepfa wafa wd fagfa e & fagor 21

(D) st wegpfa ward wd uwred +ma &1 fgor 21

Q.13 ureTe #1 fawinT -

k(.«)t;ét(B)sai’uvx(cyﬁaia:(o)zﬁiwu

fave fraor darg e & wfadifiar o
TATER qAIGd faarera var when H&T- 9 #igd Tw- 05

Q.14 U¥g:H FHIaval | Frafd BY §-
(A) sifewra ugf sfte g3 & forg sfam
(B) w5, wrmT e fa s
(C) 3rveT wd wror S4ifd #1 I
(D) WIUFR 8 J&- FUE 2T
Q.15 IYG TRl FT Haifu® I9gH M4 §-
(A) e TF HRAg Hegia
(B) et wegpfa
(C) ¥t degpfa wradg dwgpfa
(D) rdtg wepla wdde wwpld
siash fawg w smanfa (16-30)

TgaBAE T F IW JEQ

Note:- Select the most suitable reported speech in
the following questions (Q 16to 26)

Q16. Nupur said, ‘| may leave tomorrow.”

(A) Nupur said that she might leave the next day.
(B) Nupur said that she might leave tomorrow.
(C) Nupur asked if she should leave the next day.
(D) Nupur informed me to leave tomorrow.
Answer (A)

Q17. Keshav said, ‘Rena is busy right now.”
(A)Keshav said Rena was busy.

(B) Keshav informed that Rena was busy then.
(C)Keshav said Rena had been busy.

(D)Keshav informed that Rena is busy.

Q18.The teacher said, ‘You are suspended!.”
(A)The teacher exclaimed that | am suspended.
(B) The teacher exclaimed to me to suspend.

(C) The teacher informed me that | was suspended.
(D)The teacher exclaimed that | was suspended.
Q19. He said, ‘| have been a great mentor.”
(A)He said that he had been a great mentor.
(B)He said that he was a great mentor.

(C)He exclaimed that he was a great mentor.

(D) He said that he has been a great mentor.
Q20. Vidu said, “We went for a summer trip.”
(A) Vidu said that they went for a summer trip.
(B) Vidu said that they were on a summer trip.
(C) Vidu said that they had gone for a summer trip.
(D) Vidu said they went for a summer trip.

Q21. Rahul said, ‘| will manage hereafter.”
(A)Rahul said that he would manage hereafter.
(B)Rahul said that he will manage thereafter.

(C) Rahul said that he would manage thereafter.
(D)Rahul said that he will manage hereafter.
Q22.The guard asked, ‘“Who are you?”

(A)The guard asked who he was.

(B) The guard asked me who he was.

(C)The guard asks me who he was.

4\ (D)The guard asked who | was.
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Q 23. She said, ‘Bring a glass of water,please.”

(A) She commands me to bring a glass of water.
(B) She requested me to bring a glass of water.
(C) She asked me to brought a glass of water.

(D) She ordered me to bring her a glass of water.
Q24. He said, ‘Let us have dinner here.”

(A)He proposed that we had dinner there.

(B) He asked if we wished to have dinner there.
(C)He said that we should have dinner there.

(D) He said that we had dinner there.

Q25.The salesman said, ‘Are you interested in the
scheme?”

(A)The salesman said that if | was interested in the
scheme.

(B)The salesman said that if | were interested in the
scheme.

(C)The salesman asks if | am interested in the
scheme.

(D) The salesman asked me if | was interested in the
scheme.

Q26. She said, ‘Shut the door!”

(A)She asked me whether | would shut the door.
(B)She ordered me to shut the door.

(C)She said that | should shut the door.

(D)She shouted and said to shut the door.

Read the comprehension carefully and answer the
following questions.(Q 27 to 30)

It is not luck but labour that makes fortune, says
an American writer, Sometimes something is waiting
to happen: Labor with sharp eyes and strong will
makes something happen. Fortune lies in bed and the
postman wants to bring him news of the inheritance,
labor turns to six o'clock and lays the foundation of
skill with a busy pen and ringing hammer. Fortune
moans, labour watches, fortune depends on chance,
labour depends on character.

Fortune slides down into self-indulgence; Labor
moves upward and aspires to freedom. Conviction,
therefore, is the mother of good fortune. In other
words, a man’s success in life will be proportional

to his efforts, his art and his attention to the little
things.

Q 27. Who said, ‘It is not luck but labour that makes
fortune™?

(A) An American writer (B) An English writer

(C) A French writer (D) A German writer

Q 28.According to the writer, what makes something
happen?

(A) Luck (B) Labour with sharp eyes and strong will
(C) Chance (D) Self-indulgence

fave fagor darg  were & wfaaifiar 7w
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Q 29. What is the mother of good fortune according
to the writer?

(A) Conviction (B) Luck

(C) Labour (D) Attention to the little things

Q 30. According to the writer, how is a man’s
success in life determined?

(A) By luck

(B) By his efforts, art, and attention to the little
things

(C) By chance

(D) By self-indulgence

foia fawg o smafRa (31-65)
Tl wait 3 I

Q.31 {¥HA FI-

244.03 - 654.02 + ? + 2.01 = 835.01

(A) 2049 (B) 2195 (C) 2478 (D) 2502.45

Q.32 6010 - 6000 +10 = ?

(A) 1(8B) 5410 (C) O (D) BIEFE

Q.33 1043 & fadt AT | P12 R APTE 11 947 S9%a
20 WTH 14T 8| {151& F1d Ffa?

(A) 83 (B) 93 (C) 63 (D) 49

Q.34 A, B 7T C Y 31g HHel: 3294, 3634, a1 4694 £
I sitwa g et 22

(A) 28 a4 (B) 38 34 (C) 42 a¥ (D) 54 ad

Q.35 A, B @1 C U% &4 &1 #921:10 73, 15 f&a aar18 &=
F I R T4 ¢ Al el e a3 wE # ot fEad fam
# THH T qEA 82

(A) 4% (B) 2% (C) 6% (D) 9%

Q.36 v162/v288="

(A)5/2(B)7/3(C)n/a (D) 3/a

Q.37 BTl & U Wig | Wed® B | Ia4 & 9 forg o e
= e Ao 41 3l e ua ¥59.29 v fEar man d it e
# foad o 47

(A) 37 (B) 23 (C) 29 (D) 77

Q.38 IR 3iwl 1 a7 T8 | T WA Fi At A quf v &2
(A) 9999 (B) 9261 (C) 8000 (D) 3940

Q.39 [xA(b+c)]A(b-¢c).[xA(c+a)]A(c-a).
[xA(a+b)]*(a-b) = ?

(A) 0 (B)1(C) x (D) za# & HI§ adl

Q.40afg1/x% = 818, dx =7

(A)1/243 (B) 243 (C)1/3 (D) 3

Q.41[6:7::5:35] AW U FT &7

(A) 30 (B) 36 (C) 42 (D) 48

Q.4214/33,42/55, 21/22 &1 Wga® WHAYTIE AT Bifad |
(A) 7/330 (B) 9/440 (C) 11/490 (D) 7/220

Q.43 71 T3 BT #.9.9. 2310 747 I9HT7.9.9. 30 &1
afe, 39 | uE HWwAT 7%30 #, at I WA gt

\(A) 220 (B) 330 (C) 425 (D) 512
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Q.44 UF P WaR 54 it ufd 92 Frame | | ez 7 fFaar
ZFag Hm?

(A) 90 #izz (B) 900 2w (C) 60 Hizw (D) 75 Hiew

Q.45 432 FUT FT 6% % faar grm?

(A) 28.80 (B) 30 (C) 38 (D) 19

Q.46 TF Hud B FEHAT 176400 &1 THH 5% A 37
3@ 2t 1 2t ad a1 Fed B st faet gni?

(A) 200000 (B) 188396

(C) 194481 (D) 234356

Q. 47 &t Fr 31 Hgadt & 1 B Fiv7 fad a5t Haifu® gar 87
(A) 47 (B) 5% (C) 6t (D) 97+

Q. 48 T H 1Y YA [H gl BT A A 4 TR 56 qF
THRI Y 1Y g PN 31 g BT A H 9 IET ot THer B
qdnT g foaet 82

(A) 324 (B) 22 a9 (C) 259 (D) 17 a4

Q. 49 uf¥dz W -

(A) n (B) v3 (C) 27 (D) ®IE &l

Q.50 a?+b-ab-a =7

(A) (a+1)(a-b) (B) (a-1)(a+b)

(C) (a-1)(a-b) (D) FE

Q.517f% a+b+c = 9 F4T ab+bc+ca = 23 g al
(a*+b3+c3-3abc) = ?

(A) 108 (B) 207 (C) 669 (D) 723

Q.52 U FHIG{S B U =1 10 Tt 3f s fawot 12 S0t
2| 3 TIPS FT SAE EPT-

(A) 48 12 (B) 96 Fi? (C) 144 312 (D) 192 i
Q.53 gt sngfa # ga &1 %2 O 81 BOC Ja & AW & 741
AB=AC 7@ ®IvT ABC=?

(A) 30 (B) 45 (C) 60 (D) 90

Q.54 gt angfa F ga #1 F2 O & FUTHI0T ACB=40° & at
FIT AOB=?

(A) 30° (B) 40° (C) 60° (D) 80°

Q.55 75% ! forar # ageit-

(A) 3/400 (B) 30/7 (C) 3/40 (D) 3/7

Q.56 Bu e faa § AOB us wwe ¥ 81 3fz For AOC =
x° , BI9T COD = 50° @ATHIVT BOD = (2x - 20)° & dl HHor
AOC &1 919 F4T1 §I?

(A) 50° (B) 40° (C) 60° (D) 70°

Q.57 ua i % dia HIvil &1 wfaa 7 F1 gen?

(A) 33°,42°,15° (B) 40°,70°, 80°

(€) 30°,60°,100° (D) 50°, 60°, 70°

Q.58 I A Bt HEm w59 6, 9,12, 15 3R 18/
fnfoia o8 W vas @l § 2 oy g &-

(A) 182 (B) 176 (C) 180 (D) 185

Q.59 3T HTeTaR aR &1 31 F 62 o= 7 2= = @
(A) quaR (B) #eaR (C) ¥HaR (D) aar

Q.60 1,8,27,64,7, 216, 343

(A) 125 (B) 145 (C) 160 (D) 180

.
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Q. 6%'ma=f$r A6 AT Bifed e Tl Fraag 6
Hiew 81

(A) 48 T #izw (B) 29 & Hiew

(C) 37 7 iz (D) 18 i *iew

Q.62 u% ufed &1 318 @™ 14 31, 81 44 it g aa wva
# 7 faa 9o emem?

(A) 20000 (B) 35000 (C) 50000 (D) 70000

Q. 63 U XA I T A6 352 T T, gadr
T FHIAR A & A B 16 T, 1 AfE wEie
ST H R U T 25 FHY. T @, AT I S B g
T FR |

(A) 52 3t (B) 53 |t (C) 19 F3it (D) 153 Fit

Q.64 12 TTwet U F U b [ R ATl § HafE TAE
qreet B uTiRar 13,5 witeR &1 9 wites urfar aret fasaet
aifeeal & g 2 s STt

(A)8(B)15(C)16 (D) 18

Q.65 60 fait/der &1 nfa & ez /I & agat)

(A) 16.6 ¥izz/dFz (B) 16.8 Hize/dFdz

(C) 15.4 #izz/ddz (D) 17.5%ew /A%

fagma fawg w smurfi (66-100)

qgfamedia welt & I Gifeg
Q.66 7™ F F # wafa few vy § nfvaws 7@ vgad &
(A) afa @it &9 7 (8) faya snavit & v
(C)feim&E=ad (D) Iwis @it
Q.67 fw & #ta g &4 # I wafd il # faga snaeit &
B # qgetar
(A) famr (B) Frawitst (C) 7o %91 (D) [T &4
Q.68 *fft &t Fdvar it @ aren &
(A) grvdfaes Ranifed= sfam] (8) wewifaam
(C) weiteidae (D) 3w JHt
Q.69 e & Ha wafd #fws 7@ fiw dfw grr ugaa &
(A) 8 9t 7% o5y dfawT (B) 8 F HITE aifaasr
(C) 9@t wura dfd®r (D) 7 9t wuTe e
Q.70 AT & ATl A I UTH H0A | Pod TL0IT B HAT ¢
(A)3(B)6(C)8(D)9
Q.71 Yer 1 Wi fowy 301 H g
(A) 1= (B) w3t 3@ (C) Fsiteis (D)
Q.72 TEUYH Tl & AT & Ugl &R B IHF! Ud1% Hara H1
T s danfas & o
(A) =1eza & (B) Fea 7 (C) Fsiiieraw 4 (D) WHiE
Q.73 @Tz%a & U | UTH Far &
(A) @ (B) zar (C) feesw (D) ¥
Q.74 Feul HT ol & fawaa # fera v 35 o1 & S &
(A) @& (B) e (C) T (D) It
Q.75 FST1 &1 AHE ¢
(A) 5 (B) Feiidt (C) faeit Feint (D) Iuers w+it
Q.76 T % felt 32 &1 sTeai® AT &
\(A) 0°C (B) -4°C (C) 100°C (D) IWI # | FIE 7@
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Q.77 98.6 fEft waRz A 21a &

(A) 100 f&it g (B) 37 st Afiaw

(C) o EEfAfmw (D) -4 Bt Afcaw
Q.78 ZZ W AT &

(A) ¥+t Fa%1 | (B) ZIHEIBIZEH

(C) TEHRGRA (D) ZISHIBIEZTE T HIZHRURA gt o
Q.79 UoHHaT 359 HY e s Tl F et vt 8

(A) % ¥ (B) it feva & (C) Foift a1 | (D) &P &
Q.80 TR # fawa arelt wiw, T2t & ufvers & a0 § ugm
farg

(A) urt (B) wife® 3pa (C) wzfz® 3 (D) 9%
Q.81 AR H HYe® &1 F1 Hdl &

(A) urEt (B) 79@% (C) GHife® 3wt (D) 393 Wit
Q.82 "7 & WR # Tt I gR1 fanfud g7 & WR & v
a7 g g

(A) s %1 fgia (B) =gza #1 g

(C)waa# fgia (D) amsdv & fFgia

Q. 83 T W TR AT ICeATIA T TT Hwell &

(A) TG Fr 3TpfA TR

(B) TG & AFHR T

(C) a%q & sngpld a AR FHE1 9

(D) it w @

Q. 84 3TdAet \iw & a1 ufafaq gar g

(A) Wea arafa® (B) wea st

(C) Bt amafas it smawdt (D) widfaw Faar & 7@
Q.85 Tafda WHIETAR UwHTel I ol & 757 381 FI 3w
Hiedr &

(A) S @ (B) 3gde &

(C) s @\ (D) It 9 3daet a4l ol

Q.86 UT 3T A Bvat AT SATLIS BEeATll

(A) @iz (B) F4ite (C) faya urr (D) faya d«

Q.87 ot avet®s # | FermT maer | Wbz wafed awd U I9H
TEA et Uy ERft

(A) 1897z (B) 0 82w (C) 1 9tee (D) 440 Fieed

fave fogor ARy wers & wfadifiar 7w
TaTE? F4915a faaera waer wen wan- 9 "isa tw- 05

Q.88 foit ada & vaa ga wa R aifarss zama e e & zrwar &
(A) Tt fZenait  srept sret 7/ 2rea &

(B) =it et & W 21 zreran &

(C) T w

(0) ada B fawi w

Q.89 @ F 7@ fow W fR wwar £

(A) 7@ % R faede 8 Fvan (B) 2@ o B SAE W

(C) Ty W= (D) Z@FH UBR W

Q.90 1 fag W 7= ufafaa fommdt 3t &

(A) sqE (8) waifu® we

(C) wfdfda a=an & =& (D) Huer

Q.91 W=g A F YT A e 59 &

(A) UrEt (B) TP 2T (C) FETI S (D) 39,

Q.92 3R it g F1 w9 59 & w9 | AU g dt g 3w
A"

(A) za STt (B) dedt vt

(C) ' ave 33 T it (D) Hifers U | 39 7= dwit

Q.93 P2 BB T¥ I ATeAT FHLYA BEelld ¢

(A) #a% (B) sftawy (C) faury (D) A=

Q.94 "u%" F1 wafd & |y T et 31 &

(A) Ted (B) it (C) Hida (D) switfaan

Q.95 HeATaH UTq &

(A) wifzgw (B) wieferam (C) #iiferam (D) Iwis Wit
Q.96 af%di & Hgr 97 fierd 2

(A) FigaT (B) W (C) HZifdaw (D) Iusies w+t

Q.97 AtfiTes % (o1 IWH U A ATt Al & IO F

(A) T A E (8) Fmda s

(C) ®it 5 woit i (D) e w7 €1 &

Q.98 5w ¥

(A) @@ (B) #ifi= (C) fsor (D) 3@@a

Q.99 Yorm & Pz ey 4 @ UTet T W &

(A) 25 ¥ (B) 3RVAF (C) 3% & (D) TG Wit 5
Q.100 “[orawT i 28 | Had 3t 42 e Zor & qiEt St §
(A) 9 & (B) I &t (C) smezfear &1 (D) sfieis Ht
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JAHIAT
1D 21C 41C 61D 818
2A 22D 42 A 62C 82 A
3D 238 43 8B 63C 83C
4 A 24 A 44 B 64D 84 B
5B 25D 45 A 65 A 85A
60 26 B 46 C 668 86 B
(B 27 A 47 C 678 87 A
88 28 B 48 A 68 A 88 B
9A 29 A 49 C 698 89D
10D 308 50C 0B 20 B
nNA 31D S1A 71A NC
128 328 52 B & X 92 A
13C 33B 538 oL 93 A
14 A 34 B 54D 4 A 94 A
15D 35A SS A 75D 9% 0D
16 A 36 D S6 A 76 A 96 C
178 370D 57D 78 97 8B
18D 38D S8 A 8D 98 B
19 A 398 59 C 79 C 290D
20C 40 A 60 A 808 100 D




